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#define N 3

int func ()

{
int a[N];

int i; a[o] al[1] al2]

for (1 = 0; 1 < N; ++1) {

ali] = 1;
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#define N 3

int func ()

{
int a[N];
int 1i; a[o] a[1] a[2]
for (1 = 0; 1 < N; ++1i) {

ali] = 1;




func:

pushl  %ebp caller's frame
mov 1 sesp, %ebp
subl 516, Sesp return address 4——-
movl S0, -4 (%ebp)
Jjmp .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl S1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx




func:

pushl %ebp caller’s frame

movl sesp, %ebp
subl $16, %esp return address |«—| %esp. |
movl S0, -4 (%ebp)
Jmp . L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl S1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jjle .L3
leave
ret

Yoeax %edx
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pushl %ebp caller’s frame

mov 1 sesp, %ebp
subl 516, Sesp return address
mov1 $0, -4 (%ebp) Saved %ebp |« %esp |
Jjmp .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl S1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx
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pushl  %ebp caller's frame
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subl 516, Sesp return address
mov1 $0, -4 (%ebp) Saved %ebp |« %esp |
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.L3:
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movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl S1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx




func:

pushl  %ebp caller’s frame
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subl 516, Sesp return address
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movl sedx, -16(%ebp, Seax,4)
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L2
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Jle .L3
leave
ret

%eax %edx
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L2
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Jle .L3
leave
ret

%eax %edx




func:

pushl  %ebp caller’s frame
mov 1l sesp, %sebp
subl $16, %esp return address
movl $0, -4 (%ebp) | %ebp || Saved %ebp
Jjmp .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp) <« 1%esp.|

L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx
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L2
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Jle .L3
leave
ret

%eax %edx
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pushl  %ebp caller’s frame
mov 1l sesp, %sebp
subl 516, Sesp return address
movl $0, -4 (%ebp) | %ebp || Saved %ebp
Jjmp .L2
.L3: ¢
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp) <« 1%esp.|

L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx




func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl $0, -4 (%ebp) | %ebp || Saved %ebp
jmp .L2
.L3: ¢
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp) <« 1%esp.|

L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx
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Jjmp  .L2
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movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp) <« 1%esp.|

L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret
%eax %edx




func:

.L3:

L2

pushl
movl
subl
movl

Jjmp  .L2

movl
movl
movl
addl

cmpl
Jjle .L3
leave

ret

sesp, %sebp
$16, %esp
$0, -4 (%ebp)

-4 (%ebp), %eax

-4 (%Sebp), %edx

sedx, -16(%ebp, Seax,4)
$1, -4 (%ebp)

$2, -4(%ebp)

caller’s frame

return address

Saved %ebp

0

~ %esp

Compare 0 and 2

%edx
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pushl  %ebp caller’s frame
mov 1l sesp, %sebp
subl 516, Sesp return address
movl $0, -4 (%ebp) | %ebp || Saved %ebp
Jjmp  .L2
.L3: ¢
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
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func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
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Jjmp  .L2
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movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp) <« 1%esp.|

L2
cmpl $2, -4 (%ebp)
jle .L3
leave
ret

%eax %edx




func:

.L3:

L2

pushl
movl
subl
movl

Jjmp  .L2

movl
movl
movl
addl

cmpl
jle .L3
leave

ret

\O

sebp

sesp, %sebp
$16, %esp
S0, -4 (%ebp)

-4 (%ebp), %eax

-4 (%Sebp), %edx

sedx, -16(%ebp, Seax,4)
$1, -4 (%ebp)

$2, -4(%ebp)

caller’s frame

return address

Saved %ebp

0

~ %esp

Jump if 0 <=2

%edx
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mov 1l sesp, %sebp
subl 516, Sesp return address
movl $0, -4 (%ebp) | %ebp || Saved %ebp
Jjmp  .L2
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pushl  %ebp caller’s frame
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func:

pushl  %ebp caller’s frame

movl sesp, %ebp
subl $16, %esp return address
movl S0, -4 (%ebp)
Jmp . L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%ebp) , %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jjle .L3
leave
ret

%eax %edx



func:

pushl  5ebp caller’s frame
movl sesp, %ebp
subl $16, %esp return address
movl S0, -4 (%ebp)
Jmp . L2
.L3:
movl -4 (sebp), %eax
movl -4 (%Sebp), %edx

movl %edx, -16(%ebp, $eax,4)
addl $1, -4 (%ebp)

L2
cmpl $2, -4 (%ebp)
Jjle .L3
leave
ret

%eax %edx



func:

pushl  5ebp caller’s frame
movl sesp, %ebp
subl $16, %esp return address
movl S0, -4 (%ebp)
Jmp . L2
.L3:
movl -4 (sebp), %eax
movl -4 (%Sebp), %edx

movl %edx, -16(%ebp, $eax,4)
addl $1, -4 (%ebp)

L2
cmpl $2, -4 (%ebp)
Jjle .L3
leave
ret

%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %ebp

return address

subl $16, %esp
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
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addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
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%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %ebp

return address

subl $16, %esp
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
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pushl  %ebp caller’s frame
movl sesp, %sebp
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Jjmp  .L2
.L3:
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func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl $0, -4 (%ebp) | %ebp || Saved %ebp
Jjmp  .L2
.L3: L
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp) <« 1%esp.|
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx
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pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
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pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
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movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
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jle .L3
leave
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%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl $0, -4 (%ebp) | %ebp || Saved %ebp
Jjmp  .L2
.L3: L
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp) 0 <« 1%esp.|
L2
cmpl $2, -4 (%ebp)
Jle .L3 Jump if 1 <=2
leave
ret

%eax %edx
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pushl  %ebp caller’s frame
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subl 516, Sesp return address
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movl %edx, -16(%ebp, $eax,4)
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L2
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leave
ret
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func:

pushl  %ebp caller’s frame

movl sesp, %sebp

subl 516, Sesp return address

movl $0, -4 (%ebp) | %ebp || Saved %ebp

Jjmp  .L2
.L3: 2

movl -4 (%ebp), %eax

movl -4 (%Sebp), %edx 1

movl sedx, -16(%ebp, Seax,4)

addl $1, -4 (%ebp) 0 <« 1%esp.|
L2

cmpl $2, -4 (%ebp)

Jle L3 Compare 2 and 2

leave

ret

%eax %edx
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.L3:

L2

pushl
movl
subl
movl

Jjmp  .L2

movl
movl
movl
addl

cmpl
jle .L3
leave

ret

\O

sebp

sesp, %sebp
$16, %esp
S0, -4 (%ebp)

-4 (%ebp), %eax

-4 (%Sebp), %edx

sedx, -16(%ebp, Seax,4)
$1, -4 (%ebp)

$2, -4(%ebp)

caller’s frame

return address

| %ebp || Saved %ebp

2

0 [ %esp

Jump if 2 <=2

%eax %edx
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movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx



func:

pushl  %ebp caller’s frame

movl sesp, %sebp

subl 516, Sesp return address

movl $0, -4 (%ebp) | %ebp || Saved %ebp

Jjmp  .L2
.L3: :

movl -4 (%ebp), %eax 2

movl -4 (%Sebp), %edx 1

movl sedx, -16(%ebp, Seax,4)

addl $1, -4 (%ebp) 0 <« 1%esp.|
L2

cmpl $2, -4 (%ebp)

Jle L3 Compare 3 and 2

leave

ret

%eax %edx




func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
jle .L3
leave
ret

%eax %edx



func:

.L3:

L2

pushl
movl
subl
movl

Jjmp  .L2

movl
movl
movl
addl

cmpl
jle .L3
leave

ret

\O

sebp

sesp, %sebp
$16, %esp
S0, -4 (%ebp)

-4 (%ebp), %eax

-4 (%Sebp), %edx

sedx, -16(%ebp, Seax,4)
$1, -4 (%ebp)

$2, -4(%ebp)

caller’s frame

return address

| %ebp || Saved %ebp

3
2

0 [ %esp

Jump if 3 <=2

%eax %edx




func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
jle .L3
leave
ret

%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address
movl $0, -4 (%ebp) | %ebp | —+| Saved %ebp |« [ %esp |
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx



func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address 4—-
mov1l S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret
Y%eax Y%edx



func:

pushl  %ebp caller’s frame
movl sesp, %sebp
subl 516, Sesp return address 4—-
mov1l S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret
Y%eax Y%edx



func:

\

pushl $ebp caller’s frame ‘—-

movl sesp, %sebp
subl $16, %esp
mov1l S0, -4 (%ebp)
Jjmp  .L2
.L3:
movl -4 (%ebp), %eax
movl -4 (%Sebp), %edx
movl sedx, -16(%ebp, Seax,4)
addl $1, -4 (%ebp)
L2
cmpl $2, -4 (%ebp)
Jle .L3
leave
ret

%eax %edx



